# ALL NON-COMMUTING SOLUTIONS OF THE YANG-BAXTER MATRIX EQUATION FOR A CLASS OF DIAGONALIZABLE MATRICES 

Qianglian Huang, Mansour Saeed Ibrahim Adam, Jiu Ding and<br>Lanping Zhu

(Communicated by E. Poon)


#### Abstract

Let $A$ be a complex matrix such that its square equals the identity matrix. We solve the matrix equation $A X A=X A X$ to construct all the solutions. This finishes our task for finding all the non-commuting solutions, continued from the authors' previous work.


## 1. Introduction

Let $A$ be an $n \times n$ complex matrix. The purpose of this paper is to solve the quadratic matrix equation

$$
\begin{equation*}
A X A=X A X \tag{1}
\end{equation*}
$$

completely when $A$ satisfies the equality $A^{2}=I$. The equation for the same class of the matrix $A$ has been studied in our recent paper [9] under some additional assumption for the solutions. The contribution of the current paper is that we shall find all the solutions without any condition for them. The quadratic matrix equation (1) is called the YangBaxter matrix equation since it has been extensively studied several years ago from the viewpoint of linear algebra. The reason for the name of the equation is that it has a similarity in format to the famous Yang-Baxter equation in statistical mechanics [1, 10] initiated by Yang in 1967 and by Baxter in 1972. For applications of the Yang-Baxter equation to various areas of mathematics and physics, see, e.g., the monographs [7, 11] and the references therein.

Since finding general solutions of the nonlinear matrix equation (1) is difficult, almost all the works so far have been toward constructing commuting solutions of the equation; see, e.g., [2, 3] and the references therein. In [5], all the commuting solutions were obtained when $A$ is diagonalizable. In the more general case of $A$ being nondiagonalizable, the structure of all commuting solutions has been obtained [6] for the class of nilpotent matrices. But still the explicit expression of all solutions of (1) is not available except for some special classes of matrices, such as that of idempotent matrices [8].

[^0]For the matrices considered in this paper, whose inverses are themselves, since $A$ is diagonalizable, all the commuting solutions can be obtained by the result of [5] (see also Section 2 of [9]). Thus, our purpose is to get all the non-commuting solutions. In an earlier paper [9], we found all the non-commuting solutions with the assumption that the off-diagonal blocks of the solution as a $2 \times 2$ block matrix are full ranked. In this paper, we use a different approach based a classic spectral perturbation result, so that we can drop the above assumption and find all the solutions unconditionally.

We first give a preliminary result in the next section concerning a rank relation between the off-diagonal blocks of the $2 \times 2$ block matrix solution. Then we prove our main result in Section 3. We conclude with Section 4.

## 2. A rank relation

Let $A$ be an $n \times n$ complex matrix such that its square equals the identity matrix. From our previous paper [9] we know that the corresponding matrix equation (1) is equivalent to the matrix equation

$$
\begin{equation*}
J Y J=Y J Y \tag{2}
\end{equation*}
$$

where the Jordan form of $A$ is

$$
J=\left[\begin{array}{cc}
I_{m} & 0 \\
0 & -I_{n-m}
\end{array}\right] .
$$

Their equivalence is in the sense that $X$ is a solution of (1) if and only if $Y$ is a solution of (2) with the relation $X=S Y S^{-1}$, where $S$ is the nonsingular matrix satisfying $A=$ $S J S^{-1}$. Here $I_{s}$ denotes the $s \times s$ identity matrix. With $Y$ partitioned into

$$
Y=\left[\begin{array}{ll}
K & C \\
D & Z
\end{array}\right]
$$

where $K$ is $m \times m$ and $Z$ is $(n-m) \times(n-m)$, (2) is equivalent to the following system of four equations for the sub-matrices of $Y$ :

$$
\left\{\begin{array}{c}
K^{2}-K=C D  \tag{3}\\
Z^{2}+Z=D C \\
(K+I) C=C Z \\
D(K+I)=Z D
\end{array}\right.
$$

By Theorem 2.1 of [9], all the commuting solutions of (2), i.e., the solutions $Y$ satisfying $J Y=Y J$, are $\operatorname{diag}(K, Z)$ such that $K^{2}=K$ and $Z^{2}=-Z$. It was also proved therein that any non-commuting solution of (2) must have $C \neq 0$ and $D \neq 0$. Furthermore, when $m=1$ or $m=n-1$, all the non-commuting solutions have been constructed. And the case that both $C$ and $D$ are full ranked has also been solved completely. Hence, our only remaining case before completely solving (1) when $A^{2}=I$ is that the off-diagonal sub-matrix $C$ or $D$ of the $2 \times 2$ block matrix $Y$ is rank deficient.

From the analysis of [9], the above system (3) is equivalent to

$$
\left\{\begin{align*}
K^{2}-K & =C D  \tag{4}\\
Z^{2}+Z & =D C \\
K C & =-\frac{1}{2} C \\
D K & =-\frac{1}{2} D \\
C Z & =\frac{1}{2} C \\
Z D & =\frac{1}{2} D
\end{align*}\right.
$$

The new system indicates that all nonzero columns of $C$ and $D$ are eigenvectors of $K$ and $Z$ associated with eigenvalues $-1 / 2$ and $1 / 2$, respectively, and all nonzero rows of $C$ and $D$ are left eigenvectors of $Z$ and $K$ associated with eigenvalues $1 / 2$ and $-1 / 2$, respectively. Consequently for any non-commuting solution $(K, Z, C, D)$ of the system (3), $-1 / 2$ and $1 / 2$ must be an eigenvalue of $K$ and $Z$, respectively.

To find all non-commuting solutions, we need the following lemma. Let $r(M)$ denote the rank of matrix $M$.

LEMMA 1. If $(K, Z, C, D)$ forms a solution of (4), then

$$
r(C)=r(D)
$$

Proof. Suppose ( $K, Z, C, D$ ) satisfies (4). Multiplying $C$ to the first equality from the right and using the third equality, we obtain $C D C=\left(K^{2}-K\right) C=(3 / 4) C$, so

$$
r(C)=r(C D C) \leqslant r(C D) \leqslant r(C)
$$

from which $r(C)=r(C D)$. Similarly, multiplying $D$ to the first equality from the left and using the fourth equality, we have $D C D=D\left(K^{2}-K\right)=(3 / 4) D$, so

$$
r(D)=r(D C D) \leqslant r(C D) \leqslant r(D)
$$

from which $r(D)=r(C D)$. Hence, $r(C)=r(D)$.
REMARK 1. From the proof of Lemma 2.1, for all solutions $(K, Z, C, D)$,

$$
r(C)=r(D)=r(C D)=r(D C)=r(C D C)=r(D C D)
$$

## 3. Solutions of the matrix equation

The proof of our main theorem below will need a spectral perturbation result from [4], which is stated below as a lemma. We use $p_{W}$ to denote the characteristic polynomial of matrix $W$ and $\sigma(W)$ the set of all eigenvalues of $W$ which are zeros of $p_{W}$.

Lemma 2. Let $k \leqslant n$ be two positive integers, and let $W$ and $\Lambda$ be $n \times n$ and $k \times k$ matrices, respectively. If there is an $n \times k$ matrix $U$ that satisfies $W U=U \Lambda$, then the identity

$$
p_{W+U V^{T}}(\boldsymbol{\lambda}) \cdot p_{\Lambda}(\boldsymbol{\lambda}) \equiv p_{W}(\boldsymbol{\lambda}) \cdot p_{\Lambda+V^{T} U}(\boldsymbol{\lambda})
$$

is true for any $n \times k$ matrix $V$.
We are ready to prove the main result of the paper:
THEOREM 1. Let $A$ be an $n \times n$ a complex matrix satisfying $A^{2}=I$, and let $m$ be the algebraic multiplicity of its eigenvalue 1 . Then all the non-commuting solutions of the Yang-Baxter matrix equation (1) are exactly

$$
X=S\left[\begin{array}{ll}
K & C \\
D & Z
\end{array}\right] S^{-1}
$$

where $K$ is any $m \times m$ diagonalizable matrix and $Z$ is any $(n-m) \times(n-m)$ diagonalizable matrix such that
(i) the nonzero matrices $C$ and $D$ have the same rank $r$ such that

$$
C D C=\frac{3}{4} C \text { and } D C D=\frac{3}{4} D
$$

(ii) $K$ and $Z$ have eigenvalue $-1 / 2$ and $1 / 2$ of multiplicity $r$, respectively;
(iii) the nonzero columns of $C$ and nonzero rows of $D$ are eigenvectors and left eigenvectors of $K$ respectively associated with eigenvalue $-1 / 2$, and the nonzero columns of $D$ and nonzero rows of $C$ are eigenvectors and left eigenvectors of $Z$ respectively associated with eigenvalue $1 / 2$;
(iv) the other eigenvalues of $K$ and $Z$ belong to $\{0,1\}$ and $\{0,-1\}$, respectively.

Proof. We first show that any non-commuting solution ( $K, Z, C, D$ ) of (4) must satisfy (i)-(iv). By Lemma 2.1, $r(C)=r(D)=r$. The first and second equalities of (4) give

$$
C D C=\frac{3}{4} C \text { and } D C D=\frac{3}{4} D
$$

so (i) is true. Since $C \neq 0$ and $D \neq 0$, the matrix $K$ has eigenvalue $-1 / 2$ with nonzero columns of $C$ as corresponding eigenvectors and the matrix $Z$ has eigenvalue $1 / 2$ with nonzero columns of $D$ as corresponding eigenvectors. We claim that $-1 / 2$ and $1 / 2$ are semi-simple eigenvalues of $K$ and $Z$, respectively.

If eigenvalue $-1 / 2$ of $K$ is not semi-simple, then there exists a nonzero vector $v$ satisfying $u \equiv(K+(1 / 2) I) v \neq 0$ and $(K+(1 / 2) I) u=(K+(1 / 2) I)^{2} v=0$. The eigenvector $u$ and the generalized eigenvector $v$ must be linearly independent. In fact, if $\alpha u+\beta v=0$ for some $\alpha, \beta \in \mathbb{C}$, then via multiplying this equality by $K+(1 / 2) I$ from the left we get $\beta(K+(1 / 2) I) v=\beta u=0$, which implies that $\beta=0$ and so $\alpha=0$.

Since

$$
C D v=\left(K^{2}-K\right) v=\left(K+\frac{1}{2} I\right)^{2} v-2\left(K+\frac{1}{2} I\right) v+\frac{3}{4} v=-2 u+\frac{3}{4} v
$$

$u=(3 / 8) v-(1 / 2) C D v$, and thus

$$
0=\left(K+\frac{1}{2} I\right)^{2} v=\left(K+\frac{1}{2} I\right) u=\left(K+\frac{1}{2} I\right)\left(\frac{3}{8} v-\frac{1}{2} C D v\right)=\frac{3}{8} u \neq 0 .
$$

This is a contradiction. Therefore $-1 / 2$ is a semi-simple eigenvalue of $K$. Similarity, eigenvalues $1 / 2$ of $Z$ is semi-simple. This means that (iii) is true.

To show that (iv) is also valid, we apply Lemma 3.1 to the first equality of (4). It follows that

$$
p_{K+C D}(\lambda) \cdot p_{-\frac{1}{2} I_{n-m}}(\lambda) \equiv p_{K}(\lambda) \cdot p_{D C-\frac{1}{2} I_{n-m}}(\lambda)
$$

Since $K+C D=K^{2}$, using the fact that the eigenvalues of the square of a matrix are the squares of the eigenvalues of the matrix, counting algebraic multiplicity, we can write the above identity as

$$
\prod_{i=1}^{m}\left(\lambda-\lambda_{i}^{2}\right) \cdot\left(\lambda+\frac{1}{2}\right)^{n-m} \equiv \prod_{j=1}^{m}\left(\lambda-\lambda_{j}\right) \cdot \prod_{k=1}^{n-m}\left[\lambda-\left(\mu_{k}^{2}+\mu_{k}-\frac{1}{2}\right)\right]
$$

where $\lambda_{1}, \lambda_{2}, \ldots, \lambda_{m}$ are the eigenvalues of $K$ and $\mu_{1}, \mu_{2}, \ldots, \mu_{n-m}$ are the eigenvalues of $Z$, all counting algebraic multiplicity, where $\lambda_{i}=-1 / 2$ and $\mu_{i}=1 / 2$ for $i=1, \ldots, r$. Dividing both sides by $(\lambda+1 / 2)^{r}$, we have

$$
\prod_{i=1}^{m}\left(\lambda-\lambda_{i}^{2}\right) \cdot\left(\lambda+\frac{1}{2}\right)^{n-m-r} \equiv \prod_{j=r+1}^{m}\left(\lambda-\lambda_{j}\right) \cdot \prod_{k=1}^{n-m}\left[\lambda-\left(\mu_{k}^{2}+\mu_{k}-\frac{1}{2}\right)\right]
$$

which, since $\lambda_{i}^{2}=\mu_{k}^{2}+\mu_{k}-1 / 2=1 / 4$ for $i, k=1, \ldots, r$, can be further simplified to

$$
\prod_{i=r+1}^{m}\left(\lambda-\lambda_{i}^{2}\right) \cdot\left(\lambda+\frac{1}{2}\right)^{n-m-r} \equiv \prod_{j=r+1}^{m}\left(\lambda-\lambda_{j}\right) \cdot \prod_{k=r+1}^{n-m}\left[\lambda-\left(\mu_{k}^{2}+\mu_{k}-\frac{1}{2}\right)\right]
$$

Consequently, the above identity implies that

$$
\lambda_{i}^{2}=\lambda_{i}, i=r+1, \ldots, m ; \mu_{k}^{2}=-\mu_{k}, k=r+1, \ldots, n-m .
$$

Hence, $\lambda_{i}=0$ or 1 for $i=r+1, \ldots, m$ and $\mu_{k}=0$ or -1 for $k=r+1, \ldots, n-m$. The remaining thing is to show that such eigenvalues are semi-simple.

If 0 is an eigenvalue of $K$ that is not semi-simple, then there is a vector $v \neq 0$ such that $u \equiv K v \neq 0$ and $K^{2} v=0$. From $-u=\left(K^{2}-K\right) v=C D v$ we obtain that

$$
0=-K u=K C D v=(-1 / 2) C D v=(1 / 2) u \neq 0
$$

a contradiction. If 1 is an eigenvalue of $K$ that is not semi-simple, then there is a vector $q \neq 0$ satisfying $p \equiv(K-I) q \neq 0$ and $(K-I) p=0$. Since $C D b=\left(K^{2}-K\right) q=$ $(K-I)^{2} q+(K-I) q=p$,

$$
0=(K-I)^{2} q=(K-I) p=(K-I) C D q=-\frac{3}{2} C D p=-\frac{3}{2} p \neq 0
$$

another contradiction. Therefore the eigenvalues 0 and 1 are semi-simple. Similarity, the eigenvalues 0 and -1 of $Z$ are semi-simple. Hence, $K$ and $Z$ are diagonalizable. This proves the necessity part of the theorem.

Conversely, suppose $K$ is an $m \times m$ diagonalizable matrix, $Z$ an $(n-m) \times(n-m)$ diagonalizable matrix, $C$ an $m \times(n-m)$ matrix, and $D$ an $(n-m) \times m$ matrix such that $(K, Z, C, D)$ satisfies (i)-(iv). We show that it is a solution of (4). It is enough to show that the first two equations of (4) are satisfied. Let $\hat{C}$ be the $m \times r$ matrix consisting of $r$ linearly independent columns of $C$. Then from $\left(K^{2}-K\right) C=(3 / 4) C=(C D) C$, we obtain

$$
\left(K^{2}-K\right) \hat{C}=(C D) \hat{C}
$$

On the other hand, let $E$ be an $m \times(m-r)$ matrix whose columns are linearly independent eigenvectors of $K$ associated with other eigenvalues which belong to $\{0,1\}$. Then $D E=0$ from matrix theory since all rows of $D$ are left eigenvectors of $K$ associated with eigenvalue $-1 / 2$. Thus,

$$
0=\left(K^{2}-K\right) E=C(D E)=(C D) E
$$

Since the columns of $\hat{C}$ and $E$ form a basis of $\mathbb{C}^{m}$, we see that $K^{2}-K=C D$.
By the same token and with the help of the other assumption that $D C D=(3 / 4) D$, we deduce that $Z^{2}+Z=D C$. Therefore, $(K, Z, C, D)$ solves (4). This proves the theorem.

The non-commuting solutions obtained from Theorem 3.1 can be constructed in an easy way from a similarity consideration. By Lemma 3.1 of [9], if $(K, Z, C, D)$ is a solution of (3), then $\left(K^{\prime}, Z^{\prime}, C^{\prime}, D,\right)$ is also a solution of the same system, where

$$
K^{\prime}=P K P^{-1}, \quad Z^{\prime}=Q Z Q^{-1}, \quad C^{\prime}=P C Q^{-1}, \quad D^{\prime}=Q D P^{-1}
$$

with $P$ and $Q$ any $m \times m$ and $(n-m) \times(n-m)$ nonsingular matrices, respectively. Note that

$$
C^{\prime} D^{\prime} C^{\prime}=P C Q^{-1} Q D P^{-1} P C Q^{-1}=P C D C Q^{-1}=\frac{3}{4} P C Q^{-1}=\frac{3}{4} C^{\prime}
$$

if $C D C=(3 / 4) C$ and

$$
D^{\prime} C^{\prime} D^{\prime}=Q D P^{-1} P C Q^{-1} Q D P^{-1}=Q D C D P^{-1}=\frac{3}{4} Q D P^{-1}=\frac{3}{4} D^{\prime}
$$

if $D C D=(3 / 4) D$. Thus, all the non-commuting solutions of (4) can be constructed in the following way:

## Construction of All Non-Commuting Solutions:

Step I. Pick any integer $r$ between 1 and $\min \{m, n-m\}$.
Step II. Let

$$
K_{0}=\operatorname{diag}\left(-1 / 2, \ldots,-1 / 2, \alpha_{r+1}, \ldots, \alpha_{m}\right)
$$

and

$$
Z_{0}=\operatorname{diag}\left(1 / 2, \ldots, 1 / 2, \beta_{r+1}, \ldots, \beta_{n-m}\right)
$$

where $\alpha_{i}=0$ or 1 for $i=r+1, \ldots, m$ and $\beta_{j}=0$ or -1 for $j=r+1, \ldots, n-m$.
Step III. Let

$$
C_{0}=\left[\begin{array}{cc}
\frac{\sqrt{3}}{2} I_{r} & 0 \\
0 & 0
\end{array}\right] \text { and } D_{0}=\left[\begin{array}{cc}
\frac{\sqrt{3}}{2} I_{r} & 0 \\
0 & 0
\end{array}\right] .
$$

Step $I V$. Pick any $m \times m$ and $(n-m) \times(n-m)$ nonsingular matrices $P$ and $Q$, respectively.

Step V. Let

$$
K=P K_{0} P^{-1}, Z=Q Z_{0} Q^{-1}, C=P C_{0} Q^{-1}, D=Q D_{0} P^{-1}
$$

Then $(K, Z, C, D)$ is a solution of (4).
With all possible choices of $r, P$, and $Q$, we get all the non-commuting solutions of (4), from which all the non-commuting solutions of the Yang-Baxter matrix equation (1) are thus obtained.

Next, we present a $5 \times 5$ example to illustrate our main results. Let

$$
A=\left[\begin{array}{rrrrr}
5 & 0 & -2 & -4 & 0 \\
18 & 1 & -10 & -20 & 2 \\
4 & 0 & -1 & -4 & 0 \\
4 & 0 & -2 & -3 & 0 \\
6 & 0 & -2 & -4 & -1
\end{array}\right]
$$

then $A^{2}=I$ and its Jordan form is

$$
J=\operatorname{diag}(1,1,1,-1,-1)
$$

with

$$
S=\left[\begin{array}{lllll}
1 & 2 & 3 & 1 & 1 \\
0 & 1 & 1 & 2 & 1 \\
0 & 2 & 4 & 1 & 1 \\
1 & 1 & 1 & 1 & 1 \\
1 & 2 & 3 & 4 & 5
\end{array}\right] \text { and } S^{-1}=\left[\begin{array}{rrrrr}
-7 & -1 & 4 & 9 & -1 \\
17 & 2 & -10 & -19 & 2 \\
-8 & -1 & 5 & 9 & -1 \\
-7 & 0 & 4 & 8 & -1 \\
5 & 0 & -3 & -6 & 1
\end{array}\right] .
$$

By the above discussion, we can pick up $r=1$,

$$
\begin{gathered}
K_{0}=\operatorname{diag}(-1 / 2,0,1), \quad Z_{0}=\operatorname{diag}(1 / 2,-1), \\
C_{0}=\left[\begin{array}{cc}
\frac{\sqrt{3}}{2} & 0 \\
0 & 0 \\
0 & 0
\end{array}\right], \quad D_{0}=\left[\begin{array}{ccc}
\frac{\sqrt{3}}{2} & 0 & 0 \\
0 & 0 & 0
\end{array}\right],
\end{gathered}
$$

and

$$
P=\left[\begin{array}{lll}
1 & 2 & 3 \\
0 & 1 & 1 \\
0 & 2 & 4
\end{array}\right], \quad Q=\left[\begin{array}{ll}
1 & 1 \\
2 & 3
\end{array}\right]
$$

Then

$$
\begin{aligned}
& K=P K_{0} P^{-1}=\left[\begin{array}{rrr}
-\frac{1}{2} & -\frac{5}{2} & \frac{7}{4} \\
0 & -1 & \frac{1}{2} \\
0 & -4 & 2
\end{array}\right], \quad C=P C_{0} Q^{-1}=\left[\begin{array}{rr}
\frac{3 \sqrt{3}}{2} & -\frac{\sqrt{3}}{2} \\
0 & 0 \\
0 & 0
\end{array}\right], \\
& D=Q D_{0} P^{-1}=\left[\begin{array}{c}
\frac{\sqrt{3}}{2}-\frac{\sqrt{3}}{2}-\frac{\sqrt{3}}{4} \\
\sqrt{3}-\sqrt{3}-\frac{\sqrt{3}}{2}
\end{array}\right], \quad Z=Q Z_{0} Q^{-1}=\left[\begin{array}{cc}
\frac{7}{2} & -\frac{3}{2} \\
9 & -4
\end{array}\right]
\end{aligned}
$$

and $(K, Z, C, D)$ is a solution of (4). Therefore we obtain one particular non-commuting solution of (1),

$$
\begin{aligned}
& X=\left[\begin{array}{lllll}
1 & 2 & 3 & 1 & 1 \\
0 & 1 & 1 & 2 & 1 \\
0 & 2 & 4 & 1 & 1 \\
1 & 1 & 1 & 1 & 1 \\
1 & 2 & 3 & 4 & 5
\end{array}\right]\left[\begin{array}{rrrrr}
-\frac{1}{2} & -\frac{5}{2} & \frac{7}{4} & \frac{3 \sqrt{3}}{2} & -\frac{\sqrt{3}}{2} \\
0 & -1 & \frac{1}{2} & 0 & 0 \\
0 & -4 & 2 & 0 & 0 \\
\frac{\sqrt{3}}{2} & -\frac{\sqrt{3}}{2} & -\frac{\sqrt{3}}{4} & \frac{7}{2} & -\frac{3}{2} \\
\sqrt{3} & -\sqrt{3} & -\frac{\sqrt{3}}{2} & 9 & -4
\end{array}\right]\left[\begin{array}{rrrrr}
-7 & -1 & 4 & 9 & -1 \\
17 & 2 & -10 & -19 & 2 \\
-8 & -1 & 5 & 9 & -1 \\
-7 & 0 & 4 & 8 & -1 \\
5 & 0 & -3 & -6 & 1
\end{array}\right] \\
& =\frac{1}{4}\left[\begin{array}{lrr}
-1848-172 \sqrt{3}-165-15 \sqrt{3} & 1093+99 \sqrt{3} & 2083+201 \sqrt{3}-237-23 \sqrt{3} \\
-1008-160 \sqrt{3} & -50-20 \sqrt{3} & 590+92 \sqrt{3} \\
1150+188 \sqrt{3}-142-20 \sqrt{3} \\
-1972-120 \sqrt{3}-180-15 \sqrt{3} & 1166+69 \sqrt{3} & 2224+141 \sqrt{3}-252-15 \sqrt{3} \\
-1092-172 \sqrt{3} & -75-15 \sqrt{3} & 643+99 \sqrt{3} \\
1237+201 \sqrt{3}-147-23 \sqrt{3} \\
-3560-612 \sqrt{3}-165-70 \sqrt{3} & 2083+352 \sqrt{3} & 4063+718 \sqrt{3}-505-78 \sqrt{3}
\end{array}\right] .
\end{aligned}
$$

## 4. Conclusions

As a continuation of our previous work [9], we have found all the solutions of the Yang-Baxter matrix equation (1) for the class of matrices $A$ such that $A^{2}=I$. In doing so, we found all the non-commuting solutions of the equation for the general case that the nonzero sub-matrices $C$ and $D$ in the solution matrix $Y$ have no artificial restriction. Our main result Theorem 3.1 followed from a general spectral perturbation result and the fact that $C$ and $D$ have the same rank for all the solutions.

Acknowledgements. This research was supported by the National Natural Science Foundation of China (11771378) and the Yangzhou University Foundation (2016zqn03) for Young Academic Leaders.

## REFERENCES

[1] R. J. Baxter, Partition function of the eight-vertex lattice model, Ann. Phys. 70 (1972), 193-228.
[2] J. Ding and N. Rhee, Spectral solutions of the Yang-Baxter matrix equation, J. Math. Anal. Appl. 402 (2013), 567-573.
[3] J. DING AND C. ZHANG, On the structure of the spectral solutions of the Yang-Baxter matrix equation, Applied Math. Lett. 35 (2014), 86-89.
[4] J. Ding and A. Zhou, Characteristic polynomials of some perturbed matrices, Applied Math. Comput. 199 (2008), 631-636.
[5] Q. Dong and J. Ding, Complete commuting solutions of the Yang-Baxter-like matrix equation for diagonalizable matrices, Computers Math. Appl. 72 (2016), 194-201.
[6] Q. Dong, J. Ding and Q. Huang, Commuting solutions of a quadratic matrix equation for nilpotent matrices, Algebra Colloquium. 25 (2018), 31-44.
[7] F. Felix, Nonlinear Equations, Quantum Groups and Duality Theorems: A Primer on the YangBaxter Equation, VDM Verlag, 2009.
[8] M. Saeed Ibrahim Adam, J. Ding and Q. Huang, Expresssion of solutions of the Yang-Baxterlike matrix equation for an idempotent, Applied Math. Lett. 63 (2017), 71-76.
[9] M. Saeed Ibrahim Adam, J. Ding, Q. Huang and L. Zhu, Solving a class of quadratic matrix equations, Applied Math. Lett. 82 (2018), 58-63.
[10] R. C. N. YANG, Some exact results for the many-body problem in one dimension with repulsive deltafunction interaction, Phys. Rev. Lett. 19 (1967), 1312-1315.
[11] C. N. Yang and M. Ge, Braid Group, Knot Theory, and Statistical Mechanics, World Scientific, 1989.
(Received April 15, 2018)

> Qianglian Huang
> School of Mathematical Sciences
> Yangzhou University
> Yangzhou 225002, China
> e-mail: huangq1@yzu. edu. cn
> Mansour Saeed Ibrahim Adam
> School of Mathematical Sciences
> Yangzhou University
> Yangzhou 225002, China
> and
> Department of Mathematics
> Faculty of Education, University of Khartoum P.O. Box 321, Sudan
> e-mail: mansour@uofk. edu
> Jiu Ding
> Department of Mathematics
> The University of Southern Mississippi
> Hattiesburg, MS 39406, USA
> e-mail: Jiu. Ding@usm. edu
> Lanping Zhu
> School of Mathematical Sciences
> Yangzhou University
> Yangzhou 225002, China
> e-mail: lpzhu@yzu. edu. cn


[^0]:    Mathematics subject classification (2010): 15A24; 15A18.
    Keywords and phrases: Yang-Baxter matrix equation, non-commuting solution, diagonalizable matrix, eigenvalue, spectral perturbation.

